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They are not believed - QUIRNI PPN

OVERVIEW
If a qvw is o7pn and the vw: *7Y testify that they were M7y *9105 when they signed
the 70w, they are not believed.'

Mmoo anticipates a difficulty:
- >NYD 9999 Y9N SPA INT 13 1YY MIYPND NIY D)

We cannot ask here that we should believe their claim that they were 9109; since
they have a %, for if they wanted they could have said it is paid up. If these o7y
would have testified that this is indeed our signatures however, the loan was already paid by the

m?; they would be believed and the 1% would not have to pay. Therefore we should believe them
as well that 77 m7Y 7109, and the M7 should be exempt from paying.

mMooIn answers that the 141 is not effective:

— Y997 1Y 02122 )9 1N NIYD O»PNIRT 1129
for since the "vW is authenticated; as it states in the miw» that 2pnH RXYP 7 20D
anX, therefore it is a a» that contradicts 237y, as we explained in the previous
moon. When a 70w is 2°1pn, it creates an 770 JIX that it was signed by a7w>. The claim of these

o7y is that they were 0°7109. Their claim contradicts the >770 73X. A 1 is not effective when the
claim contradicts 0>7v.

mooin offers another explanation why they are not believed:
— N92)2 )P9INTI D232 TMN N IV NIV 112 N 0210 DIFNINT 5‘1191
And furthermore, this claim that they were 0°9105 (which is offered after the “vw

! There is a dispute whether they are not believed at all and it is a 9w2 90w, or they are not believed to nullify the
quw; the status of the 7uWw remains suspended (see previous *177 7"7 Moo footnote # 1).
% mpoin uses the word X7 to indicate that the ensuing answers are applicable only 'X;7', according to the X1pon that
TN T IR W AT 1°2; however according to the X" of 1"17, these answers are not applicable. See [TIE]
‘Thinking it over’ # 2 in nann 73"7 M50 on this TMY.
? They are believed to claim ¥179, since that is not contradicting anything that was implied in the Tvw
Yot Aoy 012 12 means that the claim (not the 1a1) contradicts o°7v.
> The necessity for an additional explanation may possibly be understood if the following is assumed: D21X3 PX
means that they are not believed at all, and the 7721 can collect with this Jvw. nmooIN question, that they should be
believed with the 131 of ¥173, is that the 70w should be destroyed, for if they would claim ¥175 the 0w would be void.
moon first answer that it is a 0*7v 01Pn2 11 is sufficient to explain why the 7vW cannot be destroyed since there is no
. However, we still may not collect with this qvw, since it is *n *7n; the 0pn WY versus their testimony that they
were M7Y *700. The second answer is that 71 N7 R W AW 11°3 removes the M »n; their second testimony is
discarded. There is only the 0*pn Tvw, and the mM>n can collect with this quw. The answer of 73 11 alone is also
insufficient, for even though they cannot be believed as 07y, nevertheless they should be believed on account of the
121; to have the 7w suspended. Therefore each answer complements the other. 3"yx1. See ‘Thinking it over’ # 2.

1

TosfosInEnglish.com



R 37 '0I0 2,7 M2 .72

1s 0MpPn), 1s considered that they are retracting and testifying anew. This they
cannot do, for there is a rule that once he testified, he cannot retract his previous

testimony, and testify differently, as it is stated in the X923 (immediately following
the mawn). The W is already o"pn. The Tww states in the name of the 07y that the M2 owes
money. These 0>7¥ are now claiming that they were M7y *2109 and the vw is 9109. This in effect
means the % owes no money. This is a contradiction to their previous testimony. Therefore the
claim of 21 2°909, which disqualifies the 20w, contradicts their original testimony that the m?
owes the money.

mooin offers a final explanation why they are not believed with a 13n:
- " 199N NY DY WAt Sy

And furthermore there is a rule that by two witnesses the rule of 1a» does not

apply. A w» is effective only when there is one person making a claim and he has a .
However by two people who are making a claim even though they have a 1», they are not
believed.

Mmoo responds to an anticipated a question:
19PNV 2¥3 INT DIVN DN XY

However, in the X@°9 of the 7wn the 07V are believed on account of a 1, to claim
o MY o0, In the Xw»1 we do not say 1P»R X2 0 2 wa! Because if they chose they

could have been silent and not testify at all. The 132 of the Xw1 is that the o>7v did not have
to testify that 71 X177 °"nd, then there would be no “ww. This type of a 3 that >Pnw *va °X is
effective even by two oy’

SUMMARY

The qvwn *7v are not believed to claim 1177 2°7109 (if the VW was 271pn) with a 1
of ¥179 because: a) it is a 07V DPn2 AN, b) they are T3 Nn, and ¢) XY "N "2 W
1R except for a YPNW SV ORT 1.

® Perhaps this answer applies even if we were to assume that this is not considered a 2>7v 2p»2 1». The fact that a
oW is oMpn does not necessarily create an actual 770 73X that they are o w> 07y, especially if the ~wwn v
themselves claim that they were M7y *2109, and in addition they also have a 1.
" The popular explanation is that the idea of a 1 is that if he was lying he could have said a more effective lie. This
proves he is telling the truth. If however there are two claimants, we suspect that perhaps they are lying and the
reason they are not claiming the more effective lie is that each one thinks that the other may have not thought of the
more effective lie. See oX1 77"7 2,0> MdOIN.
8 It would seem from this answer that when the 73wn states in the X7, that 0°I1mK1 198 "7, it means they are believed
(only) to suspend the Tvw, but not to destroy it. Their 1a» is that *pnw *¥2 °X, in which case the 70w would not be
destroyed, but merely suspended.
? One explanation is that there is no concern what the other 7v will say (see previous footnote # 7); as long as one 7v
will not testify, the 20w will not be o”pn. Another explanation is that a *pnw "¥2 °X7 1» is so evident that no one
doubts whether the other 7¥ is aware of this option.

2

TosfosInEnglish.com



R 37 '0I0 2,7 M2 .72

THINKING IT OVER
1. What is the claim of the m?; is it ¥179 or 7 or something else?'”

2. mooin answers that it is a T3 9nn.' Seemingly noon question was that they
should be believed because of a 13°n; not because of M7y N737. By 11 there is no
problem with 7321 911, as evidenced in the xw™. 2

10 See xnyw "7 8,0> MPOIN [footnote # 8.
' See footnote # 5.
12 X"y NPWIR. See TN 30 MR DI NIOWA.
3

TosfosInEnglish.com



